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ifa: Sun: Avuuu:
(5—3x)(6x—5) (8x+ 2)(4x + 4)
(dx + T)(dx + 2) (5x— 5)(2x—8)

(8— P (7x—9)

(6— 62 (8x + 8)

(3—3x)(8—3)

(> — 8)(3x +9)

(2+ 9x)(6x + 6)

(1+ 5 (5x +2)
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ANSALNUNY
ifa: Suii: AZULUY:
(5—3x)(6x—5) (8x+ 2)(4x+4)
—18x% + 45x— 25 32x% + 40x + 8
(4x + T)(4x +2) (5x— 5)(2x— 8)

16x> + 36x + 14

8- (7x—9)
7 + Ox% + 56x— 72

(6— 67 (8x + 8)
—48x° — 48x% + 48x + 48

(3—3x)(8x—3)
—24x> + 33x—9

10x” — 50x + 40

o — 8)(3x +9)
360 + 9 —24x— 72

(2+ 9x)(6x + 6)
54x% + 66x + 12

(1+ 52 (5x +2)
25x° + 105 + 5x + 2
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